x7F AL o, 5x -8 > 78 o] HA sh= 7 A2 A« E

e

B
=¥



2. 3x+4<10-2x S UHESE A5

1o

@ o7} ® 177 ® 274



%EH7

It A= g

9|

x—2a<3x-5 54 —x-7<39



x o] 2k % Ao

rr

HEA 3x-2<2x+4<4(5+x) & WEo}
=

@D 11 78 @ 12 7§ ® 137} ® 14 7§ ® 157}



® 8 7/i4¥
@ 11 0¥

19] &8l

L 23000 Yol So]

ool 50000 YL H7

@ 97

G 12 14

A

1= A

o} mE 3000 YA <
2

Rl
- 92 Y F5H

A

® 10 714



SF BN AR oF 7] 7hA o] 1200 ¥ 0] AL, TP A A
oA = 800 ¥ ol wuligtet, 1R FAHS 7He A &
SHIZF1300 ¥ o] =0 A EAFYANA i E AT
A

o] AFILE Aok 7 gF B el A Abs AT AR

mdf ok

O El ro pX

O @ 425 ® 52+

@ 6A= B TAE



7. 4x-12-7406x 2 SE F2A ol vi2A vehd 222

<—<3—> <—3-—>
® @
— > <—<:
-3 3
®






1 1 _
5(x—a)>§x+1945H7}x>18%]mﬂ,6194%;5%?

@D 1 @ 2 3 3 @ 4



e 02x-1<04(x-1)
AHFSA x+6 1>2x+1
2 -3

o

@ -4<x<9

B —1<x<13

MH

pouy
rlo
[N

® -3<x<10



11.

i
mlo
r&

A 2

ftlo
4

171

ol
rr

=
K3

ik

2x+32x+8
3x+1<x+7
—2(x+3)>-3x+1
x+1<2x-5
3(2x+9)=5(x+5)+4
x+323(x—%)







13.

[\~

(5-2x) 2 x+5,2x+1>x+a® 3537t EA5HA]

of gl M€ otei=t.



14.

gt Al

Q) 22

4500 Y Q1 Arzte]| gt 7ol 700 Y <1 Akt St Allof 1300 ¥
2 1070 & g o sty AA Fo] 30000 ¥ o]strt =7

shelwl A of 9 A 744 4 4 ] Fohu?

@D 1570 ® 1671 ® 1774 @ 1870 ® 1970



15.

Zko] 9000 ¢ o]517} HA| s 1 sict o] uj,
g =A] Fsheizt
Ct- ?ﬂ

g

Iz ™
Oﬁix_. =

St 7lel 1200 €1 F2 2} 500 Y 27HE st 10 7HE AL, 1

A A



o7} Z¥Z} xem, (x —3)em, (x +2)em @ o, x

3 7 @ 8 B 9

? 6



ZEo] 4l 2| Hof| 4] 7t
15km Q1 BiS BtAL E1F

- A]{ 30

ks

17.
A&
= eES

23

ol

Ct-
au.

Flee
AR

=012
AR o

0 A% 5km & 521 7oA
L A7 Zha7t oA
ool Sotoel3 G,
2 ?_6]-0%

14 o=
7HA] ZXThetok Sh=A]

km



18.

6}73 o] 7]- Skm =

ERDEEEERE

Sololo} et & o, M4 A4 B

e =
c

km

=290
T e

& T2 H 1AZE o]

km 2 7}oF oh=2] Fofof et



19. 4dA&st= Al 849 o] 45 Bt 311 55 K} 22 o), Al 245
ool et

o e
o e

e &



20.

a-b<0,a+b<0,b>0< ot}

@ |a| > |b|
@ a<0

@ a<b
1 1
© a>b'




